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PR ES 3.5 ]
7 43.300 — 37.00 1.00
73 39.80 7 11252
10F 3.90 7 37.850 — 37.00 0.70
73 35.90 7 17217
9F 3.90 7 33.950 — 37.00 0.70
73 32.00 7 22283
8F 3.90 7 30.050 — 37.00 0.70
73 28.10 7 26835
7F 3.90 7 26.150 — 37.00 0.70
73 24.20 7 30796
6F 3.90 7 22.250 — 37.00 0.70
73 20.30 7 346 346 34269 99.04 | OK
5F 3.90 7 18.350 — 37.00 0.70
73 16.40 7 3564 3910 37214 9.52 OK
4F 3.90 7 14.450 — 37.00 0.70
73 12.50 7 7424 11334 39732 3.51 OK
3F 3.90 7 10.550 — 37.00 0.70
73 8.60 7 9535 20869 41771 2.00 OK
2F 3.90 7 6.650 — 37.00 0.50
73 4.70 7 11765 32634 43339 1.33 OK
1F 4.50 7 2.450 — 37.00 0.50
73 0.20 /I 8340 40974 —HREL L TOKIFS
g 0.2 %O 0.00 0 — 37.00 0.50
O GLSOFES (m)
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BTE LY, B ok ERT
Q,= pgj./: (ah—-2)B-dz = pr,r (ah—z)-dz + przr(ah -7)-dz
:%-pg[ a B {(2ahZ37Z32)7(23hZ17Z12)} + ayBy {(zahZQ7222)7(23}1237232)}]

L%, TRCIC, BTHOREERE R,

Lop Qz = 05 x 1.0 x 98 x[ 07 x 370 x{(2x 2x 10 x 20 - 2072 )
-( 2x 2x 10 x 20 - 202 )+ 1 x 370 x{(2x 2x 10 X 20
- 202 )-( 2x 2x 10 x 20 - 202 )]
= 4.9 x [ 25.9 X 0 + 37 X 0 1 = 0 kN 2Qz = 0 kN
op Qz = 05 x 1.0 x 98 x[ 07 x 370 x{(2x 2x 10 x 20 - 2072 )
-( 2x 2x 10 x 20 - 202 )+ 07 x 370 x{(2x 2x 10 X 20
- 202 )-( 2x 2x 10 x 20 - 202 )]
= 4.9 x [ 259 X 0 + 2519 X 0 1 = 0 kN 2Qz = 0 kN
sp Qz = 05 x 1.0 x 98 x[ 07 x 370 x{(2x 2x 10 x 20 - 2072 )
-( 2x 2x 10 x 20 - 202 )3+ 07 x 370 x{(2x 2x 10 X 20
- 202 )-( 2x 2x 10 x 20 - 202 )]
= 4.9 x [ 25.9 X 0 + 259 X 0 1 = 0 kN 2Qz = 0 kN
s Qz = 05 x 1.0 x 98 x[ 07 x 370 x{(2x 2x 10 x 20 - 2072 )
-( 2x 2x 10 x 20 - 202 )} 07 x 370 x{(2x 2x 10 X 20
- 202 )-( 2x 2x 10 x 20 - 202 )]
= 4.9 x [ 25.9 X 0 + 259 X 0 1 = 0 kN 2Qz = 0 kN
6F Qz = 05 x 1.0 x 98 x[ 07 x 370 x{(2x 2x 10 x 20 - 202 )
-( 2x 2x 10 x 20 - 202 )+ 07 x 370 x{(2x 2x 10 X 20
- 202 )-( 2x 2x 10 x 20 - 202 )]
= 4.9 X [ 25.9 X 0 + 259 X 0 1 = 0 kN 2Qz = 0 kN
5P Qz = 05 x 1.0 x 98 x[ 07 x 370 x{(2x 2x 10 x 20 - 2072 )
-( 2x 2x 10 x 1835 - 18352 )1+ 0.7 x 37.0 x{(2x 2x 10 x 20
- 202 )-( 2x 2x 10 x 20 - 202 )]
= 4.9 x [ 259 X 2.72 + 2509 X 0 1 = 345 kN 2Qz = | 345 kN I
AR Qz = 05 x 1.0 x 98 x[ 07 x 370 x{(2x 2x 10 x 164 - 16.42 )
-( 2x 2x 10 x 14.45 - 14.45% )1+ 0.7 x 37.0 x{(2x 2x 10 x 18.35
- 1835% )-( 2x 2x 10 x 164 - 1642 )]
= 4.9 x [ 259 X 17.84 + 259 X 10.24 ] = 3564 kN 2Qz = | 3909 kN I
ap Qz = 05 x 1.0 x 98 x[ 07 x 370 x{(2x 2x 10 x 125 - 1252 )
-( 2x 2x 10 x 10.55 - 10552 )1+ 0.7 x 37.0 x{(2x 2x 10 x 14.45
- 1445% )-( 2x 2x 10 x 125 - 1252 )]
= 4.9 x [ 259 X 33.05 + 2519 X 25.45 ] = 7424 kN 2Qz = | 11333 kN I
op Qz = 05 x 1.0 x 98 x[ 05 x 370 x{(2x 2x 10 x 86 - 8.62% )
-( 2x 2x 10 x 6.65 - 6.65% )1+ 0.7 x 37.0 x{(2x 2x 10 x 10.55
- 10552% )-( 2x 2x 10 x 86 - 8.62% )]
= 4.9 x [ 18.5 X 48.26 + 2509 X 40.66 ] = 9535kN 2Qz = | 20868 kN I
IF Qz = 05 x 1.0 x 98 x[ 05 x 370 x{(2x 2x 10 x 47 - 4.7% )
-( 2x 2x 10 x 245 - 2.45% )1+ 05 x 37.0 x{(2x 2x 10 X 6.65
- 6652 )-( 2x 2x 10 x 47 - 4.7% )]
= 4.9 x [ 18.5 X 73.91 + 185 X 55.87 ] = 11765 kN 2Qz = | 32633 kN I
S Qz = 05 x 1.0 x 9.8 x[ 05 x 37.0 '>< {C2x 2x 10 x 02 - 0.22% )
-( 2x 2x 10 x 0 - 0% )1+ 05 x 37.0 x{(2x 2x 10 x 245
- 2452 )-( 2x 2x 10 x 02 - 022 )]
= 4.9 x [ 18.5 X 7.96 + 18.5 X 84.0375 ] = 8340 kN 2Qz = | 40973 kN I
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